


This lesson is geared towards students in Algebra 1 and
Geometry as an introduction to the 3 basic trig ratios (sine 0
cosine Q,tangent Q)

Plan about 50 to 70 minutes to complete the lesson.

Your students should have basic undetstanding of how to:
Math: Calculate decimal values of ratios
Identify patts of right triangles
Solve for the missing piece of the Pythagorean
Theorem
TI-Nspire: Create & use formulas in "List &Spreadsheets"
Perform manual data captures.
Load "Geo_TrigBasics_Hankins.tns" from
"My Documents"
Save a document as ""Geo_date_FirstName"

Students will need a TI-Nspite handheld & scratch paper to
complete the activity



Lesson Notes:

This activity is student driven. The students need to have the
activity on their TI-Nspire and paper for computations and
compatrisons

Teachers may want to offer an expansion of the lesson to
introduce and explote solving problems with trigonometric
ratios including angle of elevation and deptession.

Review Pythagorean Theorem as a part of the lesson
introduction. Read through pages 1.1 & 1.2 with your students
and discuss elements of the drawing on page 1.3 befte releasing
the students to work individually (i.e. - if you shoot a deet, the
atrow will not hit the deer at the ground).

Remind students that C et D negds tobe used to collect data

in this activity.
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Mow that we have looked at the ratios that
affect Fred's quest for dinner, let's look at
how one angle could affect the hunting trig.

The mostimportant angle in Fred's quest for
dinner iz the angle at the ground. Investigate
how Bambi's distance from Fred changes the
angle.

EEE 5 Pocs svo e
Chick an Bambi's point (B;l fa see how s—ft'

changing the distance from the tree
will gffect the angle befween the arrow's

path and the ground. /
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arrow=6g 18321-# ‘
legB=21.?‘5ﬁ

angleB=19. 1902
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|Mathematicians use three basic trigonometric
ratios to find distances in right triangles.
These trig ratios are sine & (sin &), cosine 8
(cos §), and tangent 8 (tan &),

Using the information from the following
spreadsheet and the ratios from Problems 2,
3, & 4, see ifyou can decide which ratio goes
with each trigonometric ratio.
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the arrow must travel to collect dinner, how
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find these missing pieces.
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i\low that we have looked at the ratios that
affect Fred's guest for dinner, let's look at
how one angle could affect the hunting trip.

The most important angle in Fred's quest for
dinner is the angle at the ground. Investigate
how Bambi's distance from Fred changes the
angle.
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